MVG 08-1, Quiz #3 Solution
1. Given two cameras P, and P’, 
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Sol) 

 Consider a ray back projected from 
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The two points on this ray 
[image: image5.wmf],

x

P

+

 and 
[image: image6.wmf]C

are mapped to 
[image: image7.wmf]x

P

P

+

¢

and 
[image: image8.wmf])

(

 

e

C

P

¢

=

¢

, respectively, on the second image plane by 
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Thus the epipolar line of 
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Therefore, we have
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ii) If 
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Sol) Note that 
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So, 

2. Given a trifocal tensor, 
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sol) The corresponding points on first and the second images can be represented by a planar homography induced by a line on the third image such that  
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So, the epipolar line on the second image becomes
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And
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ii) 
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sol) Similary to i), we have
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So, 
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and if we choose 
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